12”0846 (K12n0846)

Linearized knot diagam

T

> 4 10 11 10 1 12 3 4 1 8 7 6

12\ P /
v. 1 Solving Sequence

: 11>4.12 > — — — — — — —> C1,C4,C
Aknotdlagranﬂ " e’ 033078066012105501010022099%> b

Ideals for irreducible component#ﬂ)f Xpar

I = (=5u®! +43u®° + - + 8b+ 200, —15u>! 4 129020 + - -+ + 16a + 272, u*? — 9u®! + ... — 176u + 16)
I3 = (uga—u3+3au—2u2—|—2b—|—a—3u—5, 3ula + 2u?a + ud + a® + 8au — 2u? + 3a + 2u — 2,
u +ud 4 3u? + 2u + 1)
1= (u'® + 7u® + 178 —u® 170 — 203 + T b u 1,
—ul® —10u! — 2010 — 3700 — 13u® — 61u" — 29u5 — 39u® — 30ut — u® — 19u® + 2a + 2u — 1,
u* +10u'? + 39u'® — w? + 75u® — 5u” 4+ 75u8 — 6u® + 39ut + ud + 10u? + u + 2)
I = (64742a5u® + 484970a*u® 4 - - - — 385898a — 56434, 3a°u® — 2au® +--- +8a — 9,
ut +u® 4+ 3u? + 2u+ 1)

* 4 irreducible components of dim¢ = 0, with total 68 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I} = (—5u®" + 43u?® 4 ... 4+ 8b + 200, —15u?' 4 129u2° +
272, u?? — 9u?' + ... — 176u + 16)
(i) Arc colorings

0
a7 = u

1
ailr = \0

Bu? —%u20+-~-+%u—17
as =\ Zu* — Lu? 4 ... +233u—25

1
a12 = u2

%—gum —%u20+-~-+%u—42
az =\ 2u?' — Ly +. .. 4+233u—25

—1.37500u2" + 11.2500u2° + - - - — 398.750u + 45.5000
as = — Syt 4 B0 4 — 39y 4 22

u

as = \ud+u

u +1
a = 7.L4 + 2u2

ud + 2u

as = \u® +3ud+u

0.812500u2! — 6.81250u2° + - - - + 76.7500u — 6.50000
a0 = —gutt 4 20 4 Bly 45

u21—%u20+~~+%u—%
ay = %u217%u20++%u726

0.812500u2! — 7.06250u2° + - - - + 255.250u — 27.5000
a9 = —%um—&—%um—l—---—%u—&-li’)

(ii) Obstruction class = —1

.ev 4+ 16a +

(iii) Cusp Shapes = u?! — Ju20 4 52419 — 11448 4 395017 — 1141016 + 2629415 —
1209314 4 11359913 — F1505,,17° 5498711 _ 7090510 4 S0651,,9 _ 409558 1 3502707 —

26326u’ + 16866u° — B8yt + 3971u’ — 1368u” 4 346u — 54



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 u* —19u* + -+ — 640u + 256

c2,C8 u? w4 = 2u 2

c3,C7 WP 43—t 41

C4,Cy u? 140+ w1

C5,C6,C11 U22+9U21+"'+176U+16
C12

c10 u?? + 150 + - + 160u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c 22 21
1 Yt — 17y“" + - - - + 483328y + 65536
Ca,Cs y? +3y° 4+ 32y + 4
€3, c7 y? 6y 4 =2y 41
C4,Co v+ 287 4 1y + 1
Cs5, C6, C11 y22+25y21 + ... — 384y + 256
C12
c10 y*? + Tyt + - 4 2432y + 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.287964 + 0.9247801
= —0.34728 4+ 1.431251
= —0.805889 — 0.9188921

2.14244 — 3.295751

—1.06475 + 2.743371

= 0.287964 — 0.9247801
= —0.34728 — 1.431251
= —0.805889 + 0.9188921

2.14244 + 3.295751

—1.06475 — 2.743371

= 0.927630 + 0.1846591
= 0.129761 + 0.1887781
= —0.777225 + 0.7676731

—6.83184 + 5.482921

—4.03618 — 4.852291

= 0.927630 — 0.1846591
= 0.129761 — 0.1887781
—0.777225 — 0.7676731

—6.83184 — 5.482921

—4.03618 + 4.852291

0.842891 + 0.6399311
0.429405 — 0.3133321
0.187769 + 0.8328281

—2.36000 — 2.866831

3.02711 + 5.176591

0.842891 — 0.6399311
= 0.429405 + 0.3133321
= 0.187769 — 0.8328281

—2.36000 + 2.866831

3.02711 — 5.176591

= 0.702570 4 0.8190821
0.363866 — 1.1067701
= 0.97246 + 1.065741

—4.90801 — 10.808401

—1.85897 + 7.635501

0.702570 — 0.8190821
0.363866 + 1.1067701
0.97246 — 1.065741

—4.90801 + 10.808401

—1.85897 — 7.635501

0.117025 + 0.7074431
= 0.327460 + 0.7290101
—0.504470 — 0.0452021

0.65660 — 1.395061

0.82058 + 5.903531

0.117025 — 0.7074431
= 0.327460 — 0.7290101
= —0.504470 + 0.0452021

0.65660 + 1.395061

0.82058 — 5.903531




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.59656 + 1.296861
—0.600773 + 0.1601921
0.356754 — 0.5475311

—2.42718 + 0.169381

2.49026 — 5.931971

0.59656 — 1.296861
= —0.600773 — 0.1601921
0.356754 + 0.5475311

—2.42718 — 0.169381

2.49026 + 5.931971

0.454810 + 0.1124341
= 0.910049 + 0.1782191
0.626422 + 0.4655381

—1.041380 — 0.7341791

—6.66165 + 2.133531

0.454810 — 0.1124341
= 0.910049 — 0.1782191
0.626422 — 0.4655381

—1.041380 + 0.7341791

—6.66165 — 2.133531

0.25923 + 1.614381
—0.255394 4 1.2627801
—0.450728 — 1.0969601

5.16479 — 6.926281

2.76500 4 4.708511

0.25923 — 1.614381
= —0.255394 — 1.2627801

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= —0.450728 + 1.0969601

5.16479 4 6.926281

2.76500 — 4.708511

u= 0.22193 4+ 1.65185]
a= 0.18340 + 1.860931

b= —1.06261 — 1.335771

3.3965 — 14.37121

0.70200 + 6.984521

u= 0.22193 — 1.65185]
0.18340 — 1.860931
b= —1.06261 + 1.335771

a =

3.3965 + 14.37121

0.70200 — 6.984521

0.07299 + 1.693871
—0.25150 — 1.737421
0.97828 4 1.191201

11.37540 — 4.703411

—1.53492 — 1.205691

0.07299 — 1.693871
—0.25150 4 1.737421
= 0.97828 — 1.191201

> & €| & €

11.37540 + 4.703411

—1.53492 4 1.205691




Solutions to I} Vv—1(vol +/—1CS) Cusp shape

= 0.01640 + 1.725471

= —0.138986 — 0.8570921 9.63715 — 1.433421 1.85153 + 4.642231
0.479233 + 0.5825861

0.01640 — 1.725471

= —0.138986 + 0.8570921 9.63715 + 1.433421 1.85153 — 4.642231
= 0.479233 — 0.5825861

U
a
b
U
a
b




IL. I} = (u®*a — u® + 3au —2u®* +2b+a—3u—>5, 3ubat+ud+.--+3a—
2, ut +ud 4+ 3u? +2u+1)

(i) Arc colorings

a
1,3 13 ... -1 5)
ua—|—2u+ 2a—|—2

N

S =
~

aiz = \ y?
S VYC PRI Yyt BN T
as = §u3a+§u3+-~§a+§)
iu

3, 3,31 ..._5,_25
a—gu”+ 2a 2)

ag = w+ut +2u+1

(
(
(
(
(
o= ()
(
(
(
(

ay; =
ud + 2u
as = \ud+u?+2u+1
3,3 1,3 3 3
—5uta—zu" + - —5a+ 35
aio = u

ag= \ 33— L3 4+...-3 7

2 guta— gu + 20+ 5

(—%uBa §u3+--~—%a—%

ag = 1.3 33+ ...+ 3 1

o guia+ut+ -+ 50+ 3
(ii) Obstruction class = —1

(iii) Cusp Shapes = —8u?® — 8u? — 24u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! (u* + 3u® +u? —2u+1)2
c2,C8 u® + 2u” + 3u® — 4u® — 3ut — 1203 + 18u? — 14u + 41
e u® + 2u” + 3u® + 5u® + 15u? + 120 + u? — 11u +4
¢4, Co u® — 2u” + 5u’ — 130 + 15u* — 26u° + 29u® — 15u + 22

Cs5,C6,C11 (U47U3+3U2 72U+1)2
C12
C10 (ut —u® +u® + 1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

! (y* — Ty + 15y — 2y + 1)?
¢, C8 y® + 297 + 1995 + 509° + 159y* — 118y> — 258y2 + 1280y + 1681
cs,cr y® 4+ 2y" + 1995 +19y° + 163y* + 209> + 385y* — 113y + 16
¢4, Co y® + 6y" + 3y° — 65y° — 177y* + 249> + 721y + 1051y + 484

Cs5,Ce6, C11 (y4+5y3+7y2+2y+1)2
C12
c10 W'+’ +3y° + 29+ 1)
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.395123 4 0.5068441
a = —0.771008 — 0.7096551
b= 1.37255+ 1.061201

—5.35681 + 2.830211

—5.65348 — 9.817491

u = —0.395123 4 0.5068441
0.40506 — 2.865591
= —0.415863 + 0.1659811

—5.35681 + 2.830211

—5.65348 — 9.817491

= —0.395123 — 0.5068441
= —0.771008 + 0.709655.1
= 1.37255 —1.061201

—5.35681 — 2.830211

—5.65348 4 9.817491

= 0.40506 + 2.865591
= —0.415863 — 0.1659811

—5.35681 — 2.830211

—5.65348 4 9.817491

= —0.10488 + 1.552491
= 0.13089 + 1.505401

b
U
a
b
u = —0.395123 — 0.5068441
a
b
U
a
b= 10.955379 — 0.9913001

8.64668 + 6.327931

1.65348 — 5.129601

u = —0.10488 4 1.552491
a= 0.23506 — 2.202151
b= —0.91206 + 1.632501

8.64668 + 6.327931

1.65348 — 5.129601

u = —0.10488 — 1.552491
a= 0.13089 — 1.505401
b= 10.955379 + 0.9913001

8.64668 — 6.327931

1.65348 + 5.129601

u = —0.10488 — 1.552491
a= 0.23506 + 2.202151
b= —-0.91206 — 1.632501

8.64668 — 6.327931

1.65348 + 5.129601
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I1I.
I = (w4 7ud+- - -4+ b+1, —u'®—10u +---+2a—1, u*+10u'?+- - -+ u+2)

(i) Arc colorings
o (1)

1

0

-0

ailr =

1 w13 4+ Bull 4. u+,
— Tud —17u +u® —17ut —|—2u —7u —u—1

1 w3 + 5yl 4. 2“_5
az = \ —y10 u717u +u717u +oult —Tu—u—1
%u13—u12+ —SU—%
as = —uB -9y . —2u+1
u
ae = u3+u
u2
ar = \qy?t —|—2u
ud + 2u
as = \u® +3ud+u
%uw wl? 4 - u—l
—ul3 9u11 31u? + u® — 5007 —|—5u — 36u® —|—7u —8ud+2u?+1
— 5ull .. 8u—|—3
ag = \ ¢ +6u +12u5+9u3+u +2u+1
113+4U11+ 2U+§
ag = 13 ’LL12+ —u—1

(ii) Obstruction class =1

(iii) Cusp Shapes
= 1% 4+ 2012 4 8ult + 16wl + 23u® + 45u® + 23u” + 500’ — 9ub® + 14u* — 24w — 4u? — 4w

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! ul —10ut® + - 4+ 16u+ 1

Ca2,C8 wt— e 1lu+ 12

c3,C7 w2 4 —2u 1

C4,Cy w5ttt

Cs, Ce w100 4 — w42
10 u —duP Bt 41

11, C1o uM +10ut o fu 42

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 =10y 4. — 116y +1
€2, C8 Byt o — 169y + 144
€3, C7 y Ayt 2y 41
€4, Cy Y10y =9y 41
Cs5,Ce6, C11 y14+20y13++39y+4
C12
c10 y 6y 10y + 1

14



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.216588 + 0.7666611
= —0.79945 + 1.586631
—0.734213 — 1.0622201

3.12382 — 4.219191

5.40196 + 5.635551

0.216588 — 0.7666611
—0.79945 — 1.586631
—0.734213 + 1.0622201

3.12382 4 4.219191

5.40196 — 5.635551

—0.378992 + 1.1583501
0.707988 + 0.2096261
—0.481839 + 0.1323521

—2.78436 + 0.586271

—2.37749 — 2.490681

—0.378992 — 1.1583501
0.707988 — 0.2096261
—0.481839 — 0.1323521

—2.78436 — 0.586271

—2.37749 + 2.490681

= 0.370851 + 0.5457021
—1.071550 — 0.2399681
0.288392 — 0.8207341

2.25383 4 2.262231

8.00771 — 5.348611

0.370851 — 0.5457021
= —1.071550 + 0.2399681
0.288392 + 0.8207341

2.25383 — 2.262231

8.00771 + 5.348611

—0.304789 + 0.3971421
= —0.53814 — 2.607561
0.717374 + 0.6636631

—5.08623 + 1.961211

—1.63137 — 0.590671

—0.304789 — 0.3971421
—0.53814 + 2.607561
0.717374 — 0.6636631

—5.08623 — 1.961211

—1.63137 + 0.590671

—0.08871 4 1.551311
= 0.42730 + 1.64814T1
—1.009610 — 0.9640291

1.73020 + 3.345301

—1.14043 — 1.012171

—0.08871 — 1.551311
= 0.42730 — 1.648141
= —1.009610 + 0.9640291

> Q@ 2|l & €| & €| Q& €| & €| & €| & &> & | & 8| & &

1.73020 — 3.345301

—1.14043 + 1.012171

15



Solutions to I¥ Vv—1(vol +/—1CS) Cusp shape

= 0.05772 4 1.672081

—0.19555 — 1.812581 11.81410 — 5.263411 5.92578 4- 7.145681
0.96827 4 1.260171

0.05772 — 1.672081

= —0.19555 4 1.812581 11.81410 + 5.263411 5.92578 — 7.145681
= 0.96827 — 1.260171

u= 0.12734 4 1.691421

a= 0.219396 — 0.8955721 10.33280 + 0.067351 7.31384 — 0.146441
b= 0.251625 + 0.7822661

w= 0.12734 — 1.69142]

a= 0.219396 + 0.8955721 10.33280 — 0.067351 7.31384 4 0.146441
b= 0.251625 — 0.7822661

16



V. I®

= (6.47 x 10*a’®u® + 4.85 x 10°a%u® + --. — 3.86 x 10%°a — 5.64 X
104, 3a’u® — 2a*ud +--- 4+ 8a — 9, u* + u® + 3u? 4+ 2u + 1)

(i) Arc colorings

-

ail =

az =

ag =

ayp =

(o
(
o= (o
(-
-
('
(-
(v
e
o

o

!
)

0.0689494a°u® — 0.516487a*u? + - - - + 0.410977a + 0.0601015)

)

—0.0689494a°u> — 0.516487a*u® + - - - + 1.41098a + 0.0601015
0.0689494a°u3 — 0.516487a*u> + - - - 4+ 0.410977a + 0.0601015

0.140805a°u3 — 0.346580a*u> 4 - - - — 0.706629a — 1.69831
0. 160361@5u3 + 0.183546a*u® + - - - — 0.869155a — 1.38070

)
u+1
w—u?—2u—1
ud + 2u )

wWHur+2u+1

0. 000760401a —0.631549a*u> + - - - — 1.72584a + 1.80502
0.122303a°u3 — 0.0408039a*u® + - - - 4+ 0.836778a — 0.878400

0. 0571962a5u3 +0.310935a*u® + - - - 4+ 1.43692a — 0.163214
0.0409488a°u3 — 0.886450a*u® + - - - — 0.599105a — 0.139767

0.177120a%u® + 0.152318a*u> + - - - 4+ 1.00470a + 1.79206
0.101777a%u® — 0.569117a*u® + - - - — 1.15970a — 1.37536

(ii) Obstruction class = —1
_ 71470 5,3 _ 268064 4, 3 60802 . 452394
(iii) Cusp Shapes = —j5irsa’u” — orgsau” + -+ + 3551559 — I6o4s0

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u* 4+ 3u® +u? —2u+1)8
c2,C8 u?* —3u® -+ 8u+8
c3, C7 u? —5uB o —4du+8
C4,Cy u FuB 4 —32u+8
Cs5,C6,C11 (U47U3+3U2 72U+1)b
C12
C10 (ut —u® +u® + 1)6

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

! (y* — 7y + 1592 — 2y 4+ 1)°

ca,C8 y* +9y® + . 4 1696y + 64

3,7 y* 4+ 5923 4+ 4 1136y + 64

€4, Cy y** +21y* + - + 3808y + 64

C5,Ce, C11 (y4+5y3+7y2+2y+1)6
C12

c10 W'+’ +3° + 2+ 1)°

19



Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = —0.395123 4 0.5068441
a = —0.637870 + 0.7396471
b= 0.115226 + 0.6350561

1.64493 — 1.748861

—2.00000 — 2.343941

u = —0.395123 4 0.5068441
a= 1.159350 + 0.0591251
b= —0.490251 — 0.8080771

1.64493 — 1.748861

—2.00000 — 2.343941

u = —0.395123 4 0.5068441
a= 127325 —0.74075]
b= 0.957415 + 0.1417151

—5.35681

—5.65348 4+ 0.1

u = —0.395123 4 0.5068441
a= 0.86187+ 1.257691
b= 10.76295 — 1.204761

1.64493 + 4.579071

—2.00000 — 7.473541

u = —0.395123 4 0.5068441
a = —1.53954 — 0.586321
b= —0.668828 + 0.8026181

1.64493 + 4.579071

—2.00000 — 7.473541

u = —0.395123 4 0.5068441
a = —0.16426 — 2.677791
b= —0.57777 + 1.367291

—5.35681

—5.65348 4+ 0.1

u = —0.395123 — 0.5068441
a = —0.637870 — 0.7396471
b= 0.115226 — 0.6350561

1.64493 + 1.748861

—2.00000 + 2.343941

u = —0.395123 — 0.5068441
a= 1.159350 — 0.0591251
b= —0.490251 + 0.8080771

1.64493 + 1.748861

—2.00000 + 2.343941

u = —0.395123 — 0.5068441
a= 1.27325+0.740751
b= 0.957415 — 0.1417151

—5.35681

—5.65348 + 0.1

u = —0.395123 — 0.5068441
a= 0.86187 —1.257691
b= 10.76295 + 1.204761

1.64493 — 4.579071

—2.00000 + 7.473541
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Solutions to I

V=1(vol + v=1CS)

Cusp shape

u = —0.395123 — 0.5068441
a = —1.53954 4 0.586321
b= —0.668828 — 0.8026181

1.64493 — 4.579071

—2.00000 + 7.473541

u = —0.395123 — 0.5068441

a = —0.16426 4 2.677791 —5.35681 —5.65348 + 0.1
b= —0.57777 — 1.367291

u = —0.10488 + 1.552491

a = —0.076529 + 0.8143371 8.64668 1.65348 + 0.1
b= 0.668148 — 0.8341251

u = —0.10488 + 1.552491

a = —0.53246 — 1.312851 8.64668 1.65348 + 0.1

b= —0.031326 + 0.9205591

u = —0.10488 + 1.552491
a= 0.083538 + 0.3344061
b= —1.249390 — 0.2534651

1.64493 + 1.748861

—2.00000 + 2.343941

u = —0.10488 + 1.552491
a = —0.55405 + 1.753821
b= 0.023049 — 0.4259391

1.64493 + 4.579071

—2.00000 — 7.473541

u = —0.10488 + 1.552491
1.73172 + 0.967311
b= —2.00583 — 0.963641

a =

1.64493 + 4.579071

—2.00000 — 7.473541

u = —0.10488 + 1.552491
a = —0.10502 4 2.630551
b= —0.00339 — 1.818471

1.64493 + 1.748861

—2.00000 + 2.343941

u = —0.10488 — 1.552491

a = —0.076529 — 0.8143371 8.64668 1.65348 + 0.1
b= 0.668148 + 0.8341251

u = —0.10488 — 1.552491

a = —0.53246 4 1.312851 8.64668 1.65348 + 0.1

b= —0.031326 — 0.9205591

21



Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

u = —0.10488 — 1.552497
a 0.083538 — 0.3344061 1.64493 — 1.748861 | —2.00000 — 2.343941
b= —1.249390 + 0.2534651
u = —0.10488 — 1.552497
a = —0.55405 — 1.753821 1.64493 — 4.579071 | —2.00000 + 7.473541
b= 10.023049 + 0.4259391

u = —0.10488 — 1.55249]

a= 1.73172 —-0.967311 1.64493 — 4.579071 | —2.00000 + 7.473541

b= —2.00583 4 0.963641

u = —0.10488 — 1.55249]
a = —0.10502 — 2.630551
b= —0.00339 + 1.818471

1.64493 — 1.748861

—2.00000 — 2.343941
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V. u-Polynomials

Crossings u-Polynomials at each crossing
1 ((u* + 3u® +u? — 2u+1)%) (u'* — 10u'® + - - 4+ 16u + 1)
S(u?? = 19u* + -+ — 640u + 256)
(u® 4 2u” + 3u® — 4u® — 3ut — 1203 + 18u® — 14u + 41)
2, ¢
2 Mt =B 1+ 12) (W2 e = 2u 4 2)
(Wt = 3u* 4+ Bu+8)
(u® + 2u” + 3u® + 5u® + 150" + 1203 + u® — 11u + 4)
c3,C
S Mt 20 = 2u+ D 300 4w 1)
(Ut = 5uP 4 —4u +8)
(u® — 2u" + 5u’ — 13u® + 15u* — 26u® + 29u* — 15u + 22)
Cq,C
e Mt st u )W 14 D)
(w4 — 320+ 8)
cs. (u* —u® +3u® = 2u+ 1)®)(u** + 10u'? + - —u +2)
(w4 9uP + -+ 176u + 16)
1o (u* —u® +u? + 1) (! —4u® + -+ 50 + 1)
(u? + 15u! + - + 160u + 16)
€11, €13 (u* —u® +3u® = 2u+ 1)®)(u** + 10u'? + - +u+2)

S 1 9ut + - 4 176u + 16)
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VI. Riley Polynomials

Crossings Riley Polynomials at each crossing
01 (" =7y +15y% — 2y + 1)*) (y** — 109" + - — 116y + 1)
(y*2 — 17y 4 - + 483328y + 65536)
(y® 4 29" + 195 + 50y° + 159y* — 118y> — 25842 + 1280y + 1681)
€2,C8 (g + 5yt _ 22 21
Yy +5y" - — 169y + 144) (v + 3y7 + -+ 32y + 4)
(Y +9y* + -+ 1696y + 64)
8 7 6 5 4 3 2
(y° +2y" +19¢y° + 19¢y° + 163y~ + 20y° + 385y~ — 113y + 16)
€3, 7 (M 4 413 _ 9 22 21 B
(" 4y + =2+ Dy +6y” 4 -2y + 1)
Sy +5y%° + - + 1136y + 64)
(y® 4 6y" + 398 — 65y — 177y* + 24y + 721y2 + 1051y + 484)
€4, €9 14 13 _ 22 21
Syt 10y e = 9y + (YT 28y -+ Ly 4 1)
Syt 21y 4 -+ 3808y + 64)
C5,C6, C11 (' +59° + 79 + 2y + 1)°)(y"* + 209" + -+ + 39y +4)
C12 C(y*2 4 257 4 - — 384y + 256)
10 (" + 9" + 3y + 2y + 1)°) (y'* + 69" + - + 10y + 1)

(Y2 4 Ty -+ 2432y 4 256)
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